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In Scheme, 1et is a special form that is used as a way to bind the values of local variables, i.e., variables
that are accessible only within a procedure (or other defined block of code).

The general form of 1et is:
(let ((<var,> <exp,>) ; each var is bound to the value of the corresponding expression
(<var,> <exp,>)
(<va:1rl;> . <exp,>) )
<body>)

Example
(define a 3)

(define (foo x)

(let ((a 0))
(+ x 2)))

(foo10) => (+ (0 0) =7 (D

Let desugars into an anonymous lambda.

(define (foo x)
((lambda (a) (+ x a)) 0)))

Variables are bound in parallel, not sequentially.
(define a 3)
(let ((a 0)
(b a))
(rab) = (+ 0 3) =3
desugaring with more than one variable:

((lambda (a by (+ a b)), 0 &)




To bind variables seguentially, use several lets or let*,

(define a 3)

(let ((a 0))

(let ((b a))
(+ab)=> (+0 0) =20

(let* ((@ 0)

b
¢ (0 0) =0

Problems

For each expression or set of expressions, give the value returned by evaluating the last expression in the
set.

value

1. ((lambda (x)

(let ((y 4))
+ X y))) [

7)

2. (define a 4)
(define x 3)

(define (foo x)
(let ((a 1)) 3

(+ x a))))
(foo 2)

3. (let ((foo (lambda (x) (* 2 x)))
vy 4)
(fooy)

: ¥




